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ƒÇX A$ Z¤/ (i)

{b,c} (d) B (c) A (b) (a)

ìX Component » A Set (ii)

(d) AxB (c) B' (b) A (a)

Ð7ƒÇX Set B »m 2 A$ B = {1, 2, 3} Z¤/ (iii)

Zy~ÐÃð7 (d) Undefined (c) E (b) T (a)

ƒCìX (Straight Line) ¦S� (iv)

Multiplication of Two Parts (b) Diff. b/w two parts (a)

Zy~ÐÃð7 (d) Both (a) and (b) (c)

ìX (Equation) )zZ] _____________ = a + b x (v)

Polynomial (d) Quadralic (c) Non - Linear (b) Linear (a)

ƒÇX Y ~ (Equation) Æ)zZ] X - Axis (vi)

Zy~ÐÃð7 (d) Positive (c) Negative (b) Zero (a)

',Z',ƒÇX m A$ Z¤/ (vii)

Variable (d) Intercept (c) Constant (b) Slope (a)

1



ìX Qutient Rule » Log (x/y) (viii)

(d) (c) (b) (a)

»ˆ[Îc*Y@*ìX (Simple Interest Rate) ‚Š{ÑbÎŠ (ix)

(d) (c) (b) (a)

ÅVwìX (x)

Zero Matrix (d) Square Matrix(c) Double Matrix (b) Single Matrix (a)

zzzzŠŠŠŠzzzzxxxx
ÐzŸs#™,X Ven Diagram Ã (2)

¥x™,X A x B A$ A = {a, b, c} B = {3, 4, 5} Z¤/ (3)

ƒ@*ìX U*"$™,� (4)

¥x™,X / ˆl™, (Equation) ÕoÐ¦/gDƒñ�Å)zZ] (5.6) Q (4, -3) (5)

¥x™,X (Equalibrium Price) ÂáZiy7 S = C + dp Zzg D = a - bp Z¤/ (6)

¥x™,X A x B Zzg A + B, A - B A$ Z¤/ (7)

A$áZiy Co = 135 Ôb = 0.5 ÔIo = 76 Ôbo = 30 ÔY = C + I + G ÔC = Co+by ÔIo, 6 = 60 Z# (8)

¥x™,X (Equalibrium Income) Wæã
ÏX ÃXZŠZ5™} SBI ‚wÆZ!x6,z{ 10 ÐŒÛn1X SBI ÑbÎŠ6, 5% ‚wÆa 10 ïä (9)
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ÃU*"$™,X (10)

Zzg U*"$™, (11)

¥x™,X (Equalibrium Quantity) ZzglZg (Equalibrium Prices) ©gW!*Š~Šg`fs!*iZgzVÆaáZiy© (12)

13P-QS = 27 (d) Qs+32-7P = 0 (c) Qs = -45+8P (b) Qs = -20+3P (a)

Qd+4P-24=0 Qd-128+9P = 0 Qd = 125-2P Qd = 220-5P 

¥x™,X Inverse Šg`fs» (13)

Å©¥x™,X x
2

Zzg x
1

Æfg= Cramer's Rule (14)

 7P1 + 2P2 = 60 (B) 2x1 + 6x2 = 22 (A) 

P1 + 8P2 = 78 -x1 + 5x2 = 53
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